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Bruker TopSpin
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Bruker JEOL
TD x_points
SW x_sweep
NUC1 x_domain
O1P x_offset
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NOE (nuclear Overhauser effect)
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c
http://www.chem.wisc.edu/areas/reich/nmr/08-tech-02-noe.htm
Magn. Res. Chem. 1985, 23, 90.
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NMR
D.W.
ISBN: 9784061543140
Wiley-VCH, “150 and More Basic NMR Experiments: A Practical Course”
Siegmar Braun, Hans-Otto Kalinowski, Stefan Berger
ISBN: 9783527295128

1H NMR
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N DR AT
SW AT

PW: pulse width = (~ μs)
AT: aquisition time = (~ s)

FID
DT: delay time = (~ s)

→
TR: pulse repetition time = 

AT = N/2SW = 1/DR
N: number of point = ( )
SW: spectral width = (Hz)
DR: digital resolution = (Hz/ )

( )



90

8

90

y
( )

PW
PW

PW(μs)
sin(PW)

→

a x
M0

0 M0sin30°=     M0 M0sin45° =       M0
1

√2
1
2 M0sin90°= M0 M0sin135° = – M0

1
√2

M0sin180°= 0



T1( )

9

90 180T1
y ( )

180
90

270
y

180 z
90 z 0

270
y

z 0 90 0

z
90

90
y

(
M
0,

–M
0)

τ1

τ2

τ3

τ T1

τ ( )


